Plate (thickness betw 6 to 20 mm)

] FEA Model.std - Whole Structure é@ EE FEA Model.std - Plate Center Stress:
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How to determine weld size using plate element
output? Which values should I select in order to
compare with allowable outline weld capacity?

Shear Membrane MoTTent -~
. E SQX (local) | SQY (local) | SX (local) | SY (local) | SXY (local) Mx My Mxy \\ E |
MPa MPa MPa MPa MPa Kip-infin Kip-iniin Kip-infin =
32 |1LDADCAS 0.467 .22 0197 1311 0245 0018 0172 0.012 \
2 LOAD CAS “0.008 0.346 0231 0430 0.405 0.000 0.016 0001
3 COMBINAT] 0.459 4078 0034 0881 0160 R 0156 0.010 Option 1: Which values (stress
33 |1L0ADCAS 3845 0.266 0673 0131 1983 0158 0,060 0112 p * (
2 LOAD CAS 0.276 0118 21330 0102 1138 0008 0.002 “00E R
r bending) should |
3 COMBINAT] 3589 0,150 0 8ET 0028 848 0,182 N 0,048 or bend g) should | use to
34 |1L0ADCAS 2208 1173 8231 0548 2739 0028 0022 0243 : :
2 LOAD CAS pas 0.249 5126 {0706 1181 0.023 0.004 6011 determine plate thickness ok or
3 COMBINAT]| 2393 1422 3106 0158 ~1588 0002 0019 0231 not? N
£ FEA Model.std - Plate Corner Stress: o &
4] «]» ][> Shear, Membrane and Bending /
Shear Membrane / Bending Mom -
SQX (local) | SQY (local) | SX(local) | SY (local) | SXY (local)l{  Mx My
Plate Lec Hode MPa MPa MPa MPa MPa_ [Nipinfin | Kip-infin in El
32 |1L0ADCAS B 2615 3,071 0173 0749 0.048 0. =—P—ﬁ 723 0.
77 2E74 5828 0118 3223 0060 0.074 20.010 -0.087TN
3 ) 548 0887 3448 J0&1s 0422 0280 0.008
74 1839 2937 0396 0848 0603 0041 0190 0.103
2 LOAD CAS 5 -0.248 0186 0457 0674 0732 0.003 0.023 ~0.004
77 0.240 0.E11 0110 0.058 0276 0003 0.002 0.008 Option 2: Use plate
3 0.229 0518 0886 S1819 1512 0.005 0.028 0.001
74 0224 0471 0381 0043 0861 004 0013 0008 bending Moment Mx and
3 COMBINAT]| 5 2370 2888 0283 0078 0780 0.016 0199 0.026
77 2.334 -5.317 -0.225 3.281 -0.335 0.070 -0.008 -0.076 My to calculate Max
3 1283 5333 0200 1796 0.897 0117 0282 0004
72 WL 5768 0.005 1581 0.358 0048 077 0.085 Plate Stress and compare ~

with allowable code-
based plate stress

=>» Determine steel plate
thickness required




